Bellwork Friday, January 31, 2014

6. In any parallelogram ABCD, it is always true that the
measures of ZABC and ZBCD:

1. Carmen is playing with blocks. She arranges stacks of
blocks so that each successive level of blocks has

o
1 fewer block than the level below it and the top level l a add up to ]80 .
has 1 block. Such a stack with 3 levels is shown below. 5. add up o O0°
Carmen wants to make such a stack with 12 levels 3 N o
How many blocks would she use to build this stack? H. are each greater than 90°.
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12. In the figure below, ZBAC measures 30°, ZABC mea- 33. h‘: the figurehdeW-ngCD i‘s %Squ?fbgg?tsr are
o . . chosen on each pair of adjacent sides o ’D to form
.SU:ES 110°, and F(zg(gg’qc' and D are collinear. What 4 congruent right triangles, as shown below. Each of
1S € measure o , {

these has one leg that is twice as long as the other leg.
What fraction of the area of square ABCD is shaded?
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